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 ��	���� ���� �	 
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1) u = v1x + v2x +v3x    (1 ���.) 
2) v2y = - v3y     (1 ���.) 
3) u2 = v1

2 + v2
2 + v3

2     (1 ���.) 
4) v2

2 = v2x
2 + v2y

2   ( ������ 	 � ���
 � �
 v3) 
5) v2x = v3x      (1 ���.) 
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�
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������
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����������. ��� ���� ���	� ��	��
, �	  
  
 v2x = v2 cos(300) = v2�3/2   �    

v2y = v2 sin(300) = v2 / 2     ( 1 ���.) 

T 

T 

T 

m.g 

m 

m 

T T 

x 

L 

" 



 
�����	�� 
����
�
�	  
 

u = v1 + v2�3 
 
u2 = v1

2 + 2.v2
2  

 
�����	�� 
����
�
�	  
 

 
51

u
v −=   ( 1 ���.)  �     

5
.32

2

u
v =     ( 1 ���.)   

 
 
 ����#� 3. 
 
 �) �� �
������	 � ���	�����	 �������� �	 ����
, �	 �� v=12.8829 �	 �
�
���
� � 
��	���
�	��� �����	��	�� 	 �����
�	��� S=33,9506 �� S=40,2849 (1 ���.) 
 
 $) #
 �
 �
�	�	��� �����	��	�� �� �
�������	 ���������� ��
����
�	 �����
�
: 
 
 �v/�s = (�v/�t)/(�s/�t) = a/v 
  
 a = v.(�v/�s)     (1 ���.) 
 
 #
 
�–�����
 ������� �
 �
�	�	���	�� �
 �����	��	�� 	 �	�������� 
�����	��	�� �v/�s �
 ���	 ������	�� �
��� �� �����, �
�
 � �� ���� �
 �	���
�
 
�������� �
 v  � ��	� ���
 �
 �	 ��	�	 ��	��
�
 �������� �� ��	�	. 
 
 

S ( m ) v (m/s) a (m/s2) S ( m ) v (m/s) a (m/s2) 
27.6029 12.3008 2.40 35.2377 12.8511 -0.558 
28.8442 12.5163 1.91 36.5192 12.7719 -1.02 
30.1045 12.6827 1.41 37.7906 12.6470 -1.47 
31.3791 12.7993 0.916 39.0472 12.4786 -1.89 
32.6627 12.8659 0.417 40.2849 12.2695 -2.28 
33.9506   12.8829 -0.0756    
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